The author of the reading asserts three diverse pieces of information about the way that the agnostids lived. On the other hand, the lecturer disagrees with the given pieces of information, and refutes them by some specific rationales.
First off, the writer of the passage claims that the agnostids were free-swimming predators of smaller animals. In contrast, the professor argues that predatory animals need to have strong senses like precise and big eyes, but the agnostids did not have powerful senses, and they may have been blind. This is the first way that the professor casts doubt on what is stated in the reading by the writer.
Furthermore, the reading holds the view that agnostids may have dwelled on the seafloor. On the contrary, the speaker underlines that although some fossils were found of some slow animals in one part of the world, some fossils were found of agnostids in distinct parts of the world. Therefore, they were not slow animals, and could move pretty fast. Hence, they might not have dwelled on the seafloor. This is another way that the lecturer challenges the author of the reading.
At the end, it is the author's firm conviction that the agnostids were parasites, living on and feeding off larger organisms. However, the lecturer notes that the parasites could not have enormous population, and their population should be limited. Nevertheless, the population of the agnostids was really large. Thereby, they could not be parasites. This is the last way that the speaker contradicts the writer.
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